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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3 0
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P3

BfiE) | GEBATK (R)) | EBE (EH/f) | ERERE (B/R) | XS R

06:30 333 150.0 0.593 F 1BRi&e06:30 Bzl (RAEREE)
07:20 333 150.0 0.593 = Ri8007:20 BHah (RAEESE)
08:45 333 150.0 0.593 [Z=| 1BRiBe08:45 Bzh (KAL)
09:30 333 150.0 0.593 FA| {Ri%@09:30 Bz (kAMEESE)
10:15 333 150.0 0.593 BH| {Ri%@10:15 B CGRAEFESE)
11:00 333 150.0 0.593 FE| {Ri%@11:00 Bz CGRAEREE)
11:50 333 150.0 0.593 FR| {Ri%@11:50 Bz CGRAERSE)
12:35 333 150.0 0.593 BHl 1BRige12:35 Bz (RAERESE)
13:25 333 150.0 0.593 [Z=| 1Bige13:25 Bzh (REERESE)
14:10 333 150.0 0.593 [Z=| Bige14:10 Bzh (REERESE)
15:05 333 150.0 0.593 |Z=| 1Ri&e15:05 Bzl (REAERESE)
16:20 333 150.0 0.593 |Z=| 1Ri&e16:20 Bzl (RAEE:E)
=it 3996.0 (12:%) 1800. 0 32 KEC: 2080.0, PH: 6.5

#HERECE (2188.0 vs 4032.0) i d5




P3_0, Day=61 (2025-06-05)
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P3

BflE) | GEBRAK () | ERE(EA/K) | EREE B/ R [ XS ERE

06:55 333 150.0 0.593 E| {BRi18006:55 BEI (FRFAEREE)
07:35 333 150.0 0.593 = {RRi8007:35 B (RFAEEE)
08:30 333 150.0 0.593 = {RRi8008:30 Bah (RFAEEE)
09:15 333 150.0 0.593 s Ri8@09:15 B (GRFAEREE)
09:55 333 150.0 0.593 El {Ri%e09:55 B (RAERSE)
10:30 333 150.0 0.593 =l RRi80@10:30 Bz (RAEEE)
11:05 333 150.0 0.593 sl Rige11:05 B (GREAERESE)
11:40 333 150.0 0.593 S {Rige11:40 Bz (GRAERSE)
12:15 333 150.0 0.593 =l Rige12:15 Bz (REAEREE)
13:00 333 150.0 0.593 sl Ri8@13:00 B (GREAEREE)
13:45 333 150.0 0.593 F BRige13:45 Bz CGRAEREESE)
14:20 333 150.0 0.593 =l RiB014:20 B3 (REAEREE)
14:55 333 150.0 0.593 =l RiBe@14:55 Bz (REAEEREE)
15:35 333 150.0 0.593 El 1BRi&@15:35 Bz GGRAEREE)
16:15 333 150.0 0.593 =l RiBe16:15 Bah (REAKEREE)
17:10 333 150.0 0.593 =l RiB@17:10 B3y (REAEESE)
21t] 5328.0 (16%) 2400. 0 EIGHKEC: 2080.0, PH: 6.5

#HERECE (2257.0 vs 4055.0) 35




P3_0, Day=60 (2025-06-04)
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P3

BflE) | GEBRAK () | ERE(EA/K) | EREE B/ R [ XS ERE

06:35 333 150. 0 0.593 =l {Ri%e06:35 B (RAERSE)
07:10 333 150.0 0.593 =l RRi8007:10 B (REAEEE)
08:15 333 150.0 0.593 = {RRiBe08:15 Bah (RAEEE)
09:00 333 150.0 0.593 s RRi8@09:00 B (FRFAEREE)
09:45 333 150.0 0.593 Sl {Rige09:45 B (RAERSE)
10:20 333 150.0 0.593 =l Ri8010:20 B3 (REAEEE)
11:00 333 150.0 0.593 sl RiBe11:00 B (GREAERESE)
11:35 333 150.0 0.593 5 {Ri%e11:35 Bz (GRAERSE)
12:10 333 150.0 0.593 =l Rige12:10 B3 (REAEEE)
12:50 333 150.0 0.593 s RiB@12:50 B (GRAERESE)
13:35 333 150.0 0.593 F BRi%e13:35 Bz (GREEREESE)
14:15 333 150.0 0.593 =l Rige14:15 Bz (REAEREE)
14:45 333 150.0 0.593 =l RiBe14:45 Bz (REAEEREE)
15:25 333 150.0 0.593 =l {Rige15:25 B3 (REAERSE)
16:00 333 150.0 0.593 =l RRiB016:00 B3 (REAEEE)
16:50 333 150.0 0.593 =l RRiB016:50 Bz (REAEEE)
21t] 5328.0 (16%) 2400. 0 EIGHKEC: 2080.0, PH: 6.5

#[ERECE (2260.0 vs

4050. 0) id 5
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